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General Instructions :

66/2

(i)  Answers to questions carrying 1 mark may be from one word to one sentence.
(ii)  Answer to questions carrying 3 marks may be from 50-75 words.

(iii) Answer to questions carrying 4-5 marks may be about 150 words.

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

‘Hrusmue fofiee’ 2o Samel % =R 8§ offt U ST ] | I8 39 3cuTal ol ToRH I
T Sl & a1 $o8 feoeft o T WRT § St & | U W1 49 Ueh SREoT 3enia
ot afen fafies’ 3 U € awqati i 2oft 3 aner feeett & aTem & o foran | gfeamon
i “afen ferfiee’ & yow & Suadua fofies’ 6t wrisfia g6t 6t stawrehdst w
TS AT TN H Iooid HINY | HIY & Siueed fdfies o wrRia gt
STTATIHATS ohl THTFId i ATel T hl AW ST |

VXL Ltd. is a company dealing in dairy products. It procures these products from
Rajasthan and sells them to various parts of Delhi. A month before ‘Merio Ltd.’, a
Haryana based company entered Delhi market with a similar range of products. State
the impact of entry of Haryana based ‘Merio L[td.> on the working capital
requirements of VXL Ltd. Also, name the factor affecting the working capital
requirements of VXL Ltd.

s forgpe Fmfar St @ SR’ 1 Ture 9 fa@vanst W snuria fafte @ %
forepe SR § g fob S8 heft forepe’, Tefig dieer’, “whitht Siieft’ gemmfe |

foepe % Yhal & oo o=t 9 fafim o & 9 qon foegpel & faftm @l =
3T HI AR Y |

JULreR Ao ST 9 Gl A1 ohl T8 HITT |

‘My Bakery’, a biscuit manufacturing company, launched biscuits with different
flavours based on quality and features like ‘Crunchy biscuits’, ‘Sweet Potato’, ‘Coffee
Jolly’ etc.

The labels on the package of the biscuits are with pictures and different colours
indicating and specifying the flavours of the biscuits and their contents.

Identify the two functions of labelling discussed above.
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What is meant by ‘functional structure’ of an organisation ?

S fafiee qo # foua soiegi-ed 3camel <t T il FFfl 3 | 98 T TR g,
T -3uehtuTl, SATSATTH 3TTTG Sq3T H A GHL 3T WU & WETsd %iF 371G § SR
HA 3 |

HHH 1 HETHS e o1 e 3ared, fauve e fom & - stemey 9 ) wsft
HITCTh L& TG h! CEE hid o T FHI—FHI T ITeh! T eri shl TR &l
STt oft | 36 HROT TR ¥ TR SHiSHTSAl aT Aarauria foare s mu | fafdmear =i
FgTaT ¢ o foTe shroft % g it stfereerdt, a3 qEashi, Ffia-3ueston, difeaeqa
FTe 1 Hifear quT Tuei & HiGTSd B i ITHE Soiaei-ad o SF=Hid ariehd
& 1 ol form | TEn e a3 g % T HE <kl 9fshAT o Tk =Xl 1 fAsred
fomarm | 39 =ror Y g AR |

Zamon Ltd. is manufacturer of electronics goods based in Pune. On one hand it deals
in items like books, music instruments, videotapes etc.; and on the other hand it deals

in laptops and mobile phones.

The company had a functional structure with separate heads for production, marketing
and finance. All the functional heads were looking after the products, but at times their
activities overlapped. This led to problems related to coordination and inter-
departmental conflicts. To facilitate specialisation Ramit, the CEO of the company
decided to group books, music instruments, videotapes etc. under ‘Media’ and laptops
and mobile phones under ‘consumer electronics’. While doing so Ramit has performed

a step in the process of one of the functions of management. Identify the step.

Fras fora wenr srffaaan o Sifien o6l e st g ?

How does planning reduces the risks of uncertainty ?
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H A B | T8 AR o Ahid & 2 7 i €9 8 39 SLRERT Sl AT 6
YITAH BT & | Toh TS oh foeiie 2 36 g Sfdia shrIsiiel Yoil <hl STevashal & |
30 39 TR 1 YIAH 91 | 3713 TEH o ITITd A hl GUISHT 8 | T 1 forehiar yaesh
AT =7, STfoTfSureh Sk & ford 9Ted ot <hY shiferfren STrarwareRdtaT | T2l T =mEn |

e dife fop et st sifafe swrisie Ol sTavasharst i qfd =g sTeavesh
for 8 I L | 1

‘Vani Oil Refinery’ is a large company, engaged in processing crude oil and refining it
into more useful products like Petroleum, Kerosene, LPG: etc. It has build good
reputation over the years. It has been consistently earning profits and paying regular
dividend to its shareholders. It needs additional working capital immediately to
finance a project. It expects to return this amount after seven to eight months. Ashish
Batra, the Finance Manager of the company does not want to get into procedural

requirements of securing finance from a Commercial Bank.

Suggest how the company can raise the required finance for meeting its

additional working capital requirements.

7. Toqum-fas =1 190 s | 1

Give the meaning of Marketing Mix.

8. A HFdHl < T AT HIN § a1 Fa- a5 i =radt & b ofaen dewi W Ak e
T8 A1 HEa! foramor 1 S © S[@e ST 7 39 3T o THYE H HRU T | 1

If the company has enough funds and the management also wants to have greater
control on the channel members, which channel of distribution should the company

adopt ? Give reason in support of your answer.
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forfia v & &1 O fomive o |, A9 AR °THE I, Th 95 ufEieHT & o
Toraen o1 WiE T 8, Th 3-Ad Well | JEfu A 3t 1 off, ue vt v e i
ST AT, ifehe TR oft 98 #et H o 95d 9 Ieal < artaeh 37 i T8 99e o | 98
forcita sraver o & o forios ot =& o1 | 31 &1 &, Ul o H© WHI hT G W W
IS 38 TehR & ek R o1 foh 3o srga -t amyfat o g freeh SR wer ot 1
= g |

(31) oTEH 6 §-Ta1 & FENoT <hi g1 i snensti & g Hif |

(§) g g Afosy H 3794 FEINT i WISt S B STed (31) § e T
SIS 1 QLT aTcl Teheal g1 SUTAT 1 Ieeid ShiTT |

Lakhan, an expert in the area of Financial Management, sent an e-mail to his
subordinate Thomas about a new project for a client in France. Though, the mail was
in English, a language known to Thomas, he was not able to understand the actual
meaning of many words used in the mail. He was also not a specialist in the field of
Financial Management. Not only this, some portions of the mail were translated from
French to English in such a manner that many mistakes crept in, causing different
meaning to the message.

(a) Identify two specific barriers to communication in Lakhan’s e-mail.

(b) State any two measures which can be taken by Lakhan to overcome the barriers
identified in part (a) above to improve in future the effectiveness of his
communication.

IAIFATSHI b IV § ITHIHAT -GV b HEw b (ohwal o1 [9G31 ol HHSATSY |

Explain any three points of importance of consumer protection from the point of view
of consumers.

e fafiee & foa yeras ey @7’ a2 yerg fews ‘31qa et 31 ada
TIF o SYThiehtul &g o Tl & & &1 o fovg ¥ == s ® 9 | e s
@ aul 4 5078 37k §¢ 1 8 ol 3¢gd LA g AT WA F gera fean b wwar &t
TTerfirehdt 4 ST STafeh 3Tt AUt 3KUT 3 foshed =mgar o |

I <l I T SANTAT bl €T § WA 5T TAHT EIH o YRR &g ST
fopu S ot fod—aa 1 ggma < | I8 o o o foft & § W@ S 9l 7 @
R ol Wl THSTST I T 3T | Fehrel ST T 2 |
Neelabh Sarin, the Finance Manager and Atul Chopra, the Managing Director of
Ghokerns Ltd. were discussing regarding the source of finance to be raised for
modernisation of their existing plant. Quoting that ‘Sensex has soared by 5078 points’

in the last three years, Neelabh Sarin suggests that equity should be preferred while
Atul Chopra wanted to opt for debt.

Keeping in mind the high operating costs of the company, suggest the source of
finance that should be used for modernisation of existing plant. Also, explain the two
factors highlighted above which should be kept in mind for taking this decision.
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‘S Toheiehtor’ | 1 STTER} W 3THE hifT -
(i) ST Sl Tad=rar; (i) Feafa e (i) 389
Distinguish between ‘delegation’ and ‘decentralization’ on the basis of

(1) Freedom of action; (ii) Status and (iii) Purpose.

‘Y T W1 o Afafed wH=iE i 3REiE w@ & foe fau S/ g foegl da foda
Teh! oh1 Joild SHIfTT |

State any three financial incentives other than ‘Pay and Allowances’ to motivate

employees.

T T’ & qwaTq Y4 o 3= sl <6t ufshern ® fofu S arel =7t sl J9esT |

Explain the steps to be followed in the process of controlling function of management
after ‘Setting Standards.’

w.t.um. fafies 3 fenme vew & e fuse &9 7 Sef 9ehr gry s gerar SeH i
Tt B TAUT AW TEN U W IUASY 7, Ueh Selidreeh STV o [HHIUT T SHRGMT TATUd
femar |
e 99 A & v, uh. fafiee 3199 3cTel Sl A TN T 3cTfed shish TS oty
IR T | TheT 55 | SHHT RN AT HUATRAT b IR T IALGIRIcal hl EHHIST i
TS T Y qRATINA BT 9T TS o Haiy FeEner &g fafv= favm & wfafafeet =
AT TS Thishd il | HFT o IcITe Na-Ueh i ¥ Hedl T el HISA hl IucTsdd
Tq Teh IATYfclehal T W} Udl =ell | 35 ITHIGH =g 38 HHH! b Ja-o-Tigereh ol U 1=
o | iRt 38 STHIfea U a0 o yageh & fod W< & o SRifarae faawsi o
SHITT TCT &} TET 1 Feh |
(%) WIS & I YR h! TgaH hifore fraes HRo wRIfafren faoms gu aun s
A oAl T AT WA T i 1 ATH &1 31 Tehl |
(@) IWE (%) H TgIH T TS &b YR o Teh o b1 Jooid <hitre, fehl ==
I ferfd 5 T8 I TS 7 |
(M) w.d.TA. fefide gr | i FRIftd fohe 7T Tl € Jei o1 Wi Soorg hifT |
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A.V.M. Ltd. set-up its electric appliances manufacturing factory in a backward area of
Himachal Pradesh where subsidies are provided by the government and labour is
available at cheaper rates.
A.V.M. Ltd. was able to produce its products at low cost thereby generating enough
profits in the first year itself. It was because of the fact that the limits of authority and
responsibility of the employees were clearly defined and the activities of various
departments were co-ordinated and integrated. The Production Manager of the
company also came to know about the availability of raw-materials at cheaper rates
from a vendor. For this he wrote a letter to the Managing Director of the company for
getting sanction. But because of procedural delays in getting this sanction and
procuring funds from the Finance Manager, the order could not be placed.

(a) Identify the type of organisation, that led to procedural delays and because of
which the company could not get the advantage of procuring raw material at
cheaper rates.

(b) State an advantage of the type of organisation identified in (a) above other than
those discussed in the above case.

(c) Also, state any two values communicated by A.V.M Ltd. to the society.

JTEHSTHTE % Teh SciTe Ud VeH “THSd Eicg’ & aigH qeet § gt oM e 38 Tt
Torafia s 1 SR 3Ry foRa |

3T Y o Yo A1 o fore fafantsra o6fl o 20% o 31fsia S =g STeHemETg o fafi=
T W i yer 6t fargan <6t fersht & qafgame it 2 o8 |

T 99 10% <hl F@Iad] o H1Y I8 IdqT 99 o fe1l  20,00,000 <A1 Tosha @ faifia
foram |

3ok I 38 3 IRt o =94 aq T Heifa fpu 8 a8 e ura
33 BT | FIISH Tl g7 TUT STSHT 379 1831 %! I A § T6e &l Tehl |

(31) 3T § Ufeal ol 35Yd HLd U foheal QI TR hl AT oh! Tg=M hIT |
(F) IWad (31) § Gg T8 TSI oh TehRI o1 31 oft Gfra |

Vardan Patel started the business of preparation and supplying sweets through home
delivery at a production cum show-room ‘Express Sweets’ at Ahmedabad.

He made a plan forecasting the sales of different types of sweets in various
localities of Ahmedabad for each month of the year to earn a profit of 20% on Capital
employed.

He set a sales target of ¥ 20,00,000 in the current year with a 10% increase every
year.

He then set the criteria for selecting suppliers from whom he would make
purchases of raw material. The planning paid off and the business was able to achieve
its targets.

(a) Identify any two types of plans by quoting the lines from the above.
(b) Also give the meaning of the types of plans identified in part (a) above.
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o TSI o Terl =R swrt <hT 9l <HifST |

Describe any four functions of Financial Market.

WO AT T U % T stemEd ot | ue uidfedn cmdt off fh s
Hrf-Tre @ g 31Tt SHh! A T T for ek et e st et B | 3ot wnftatin
31T 1 IgH o foTe 38 U fefha-aan yry % &1 fofa forarm | 3% o 3 haet ue |
& fefth it Teetts e 3R foparm | 31t |t & form-fomst & uwenq =@ fafer wism =
o T T St o | T e R i gh B R s T
IT-GeX FIATHS TR IR foha, 38 SUETRT 91 36 ¢fHeh FHER-UAT & HTeam 9
e 3y fepa | 3o feftha 3 ferawor 2q <) forawor S5 amet et <h1 oft Frgfaa <t |

A H HT T AT, 9] 916 H I8 TR YhS. TR | JH HE H 98 30

20% T 3ARAd T § THhA 55 |

() WIS bt SToT FefthT Tanati & aR H Ty o o fore #m gy 3w § g
T e - forf¥ <t wee HINT |

(@) TEG TG BT & fouvr o fore ST () 5 e=rt 718 v -faftr 6t fopedf i
ftreR1att T Sooha T |

Sara was pursuing her graduation. Everyday she saw her mother working tirelessly at

home after coming back from her work-place. She decided to start a tiffin service to
increase her family income. To begin with she started supplying tiffin only in the
neighbourhood. Everyday she detailed out the menu after consulting her mother. For
informing the people about her service she designed a beautiful informative pamphlet,
got it printed and started distributing it through the daily newspapers. She also
appointed two delivery boys to deliver tiffins.
The business was slow to begin with but picked-up well afterwards. She was
able to earn a profit of 20% of the revenue in the first month.
(a) Identify the promotional tool used by Sara to communicate to the customers
about her tiffin service.
(b) State any three roles of the promotional tool identified in (a) above in marketing

of goods and services.
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1o TTEAfien formers wied U S < UETd, 15 99 6t g # Sfae 1 e sie fom
3R 379 Toar o 37efiT wfreqor uTed e 3Ry K fean | 3k T, v gufig festeft-
et 9, e sga-+ wwafaai o el foran o | 3o wfafed o1 fuar & @1y %™ W
ST 3TRY o feam 3R 98 3= &1 d §U 95 9F 9 ¢@dl o | Sfae s s
fafgen o 3Tt 98 *1 6 qehiienl ol Sog & Hi@ T | 39 Sfag & frar 3 38 s
% Ta-U o 3TRY e | av dfia W Y-y Sfae | 39 Wl e I
o 3T $ER 0 T guftg fosell-fieadt s T | 2 SmaEnies @ 8 fostelt 6 ar
ZTel o 1T 38 germm 3Ty K feam |

() I ITT<eE H Araa Tireger <hi fafer s 9w samv |

(@) TTTeI0r YTed hA o U ST 1 U B a1l fehegl ofiFl el b Seoid <hIfT |

After passing his secondary school examination, David left the school at the age of 15
years and started getting training under his father. His father, a renowned electrician,
had worked for many companies. He everyday started accompanying his father on
work and watched him carefully while working:-David was a good learner and learnt
the techniques of work quickly. Now his father started passing on the tricks of the
trade to David. With the passage of time David acquired a high level skill and became
a well-known electrician at Indore. Big business-houses started calling him for
electrical-wiring.

(a) Name the method of training discussed in the above para.

(b) State any three benefits which David could get on being trained.

dram fafiee v sgusdis wmefl et & ot gene afvres . § 7 | 9 T
% farfir= 27t & st B TSR S it 2 |

Ig Ueh UHT Hrol 8 TEH $Heh bRl YHTeRl, da- a7 forehtd 1 GureTati o SR
WM R T o WA @ & | BT I G- TEEU-SEhd @ a1 fafi= <o o A
YeuTd I FraranyT § Fy-1 %1 i & | A fIfieg & Jaweeh gamTe qun = W
SR g & foreeh grr st § st qen et gifeaa et 2 |

IE THE o TG H YL [owaTe T ST <hl HTaHT i i TicdTfed Hid & | 36 JhR
THE T ol T Hieh ala fIfiies 319 LT b1 I i H Thel g5 & | THT Hish
& ffires & varereh To o $o Rgrdl o Faig R E |

T ot < fagr=di <At wgei e wmEsT |
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Deewan Ltd. is a multinational consulting company with its headquarters at
Washington D.C. It hires young people from different countries of the world.

It is a company in which people dream to work because of its work-environment,
pay and growth prospectus. The company has a culture of open communication and
people of various nationalities work together in a discrimination free environment. The
behaviour of managers of Deewan Ltd. emphasises kindliness and justice which
ensures loyality and devotion of workers.

It also promotes mutual trust and belongingness among team members. In this
way management of Deewan Ltd. is able to achieve its objectives by promoting team
work. By doing so Managers of Deewan Ltd. are following some principles of
management.

Identify and explain any two such principles.

T WAL & S91, ST ey & fore grfiemes g, 31um g | u1g I areft srei-gfe
ITART hieh MG - YU IcATCH hl Teh hFHT Ciieh fAHeS <hl TATIHT Sl | 3G h1
Uohe TTaofir - o 9 36 W ged, UTAT, STqaqy, SuRinT=ag - ey qen 3= Hefa
I3 1 faawor o | 38 W g Iuie-Sanadi qun RRhRd s % Treh faawo
S T, ST e a1 3-He sl ot off | TR ST AR &I T AT 3 PTG
ST & STew e 3Ty & |

() SUTerd TTeId ITHTRATAT oh fehral a1 SRR hl &= hiTolT qT 3= THTEY |

(@) o Tl g gl o1 off Ioor@ SIS ST gf=reh felfide grT THT ol FRifyq fohu My

g1

Aditi set-up a company ‘Dantik Ltd.” to manufacture toothpastes using herbs found in
her village instead of chemicals that are hazardous to health. The package of the
product was eco-friendly and had details like price, quantity, ingredients, directions for
use and other relevant information. It also carries the contact details like address,
phone number and e-mail id of ‘Dantik Consumer Services and Grievance Cell’. The
toothpaste became very popular and she started getting orders from reputed traders.

(a) Identify and explain any two Rights of Consumers discussed above.
(b) State any two values being communicated by ‘Dantik Ltd.’ to the society.

AT i forgl g foaiati =1 3ot Hifvu |

State any five characteristics of co-ordination.

“Fa - Tt ST o1 o 319 @ 7 39 SR # =3 whasfosi W et i fafire fafen
AT |

What is meant by ‘New Issue Market’ ? Explain the various methods of floatation of
new securities issues in this market.
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A BT ! BT R S o & § dofl & g3 I o T FAH A9 Teh YIS Hl
JATferssh R T TorehTe fora T B e 38 319 I Tsg <hl TTIehal ITed 814 oTed! # |

THH TSI o T 9L TR o ST hi el 3ca=1 81 7% & | G Cieh T @A
vt TR < I AT & TUT AN oh THT o I Hi <1 & | Tg 3cITE A -SaciHi bl 3T
ITHTSATSAT o 3ISCRIVT, SUSATRT Sl TR TT S shi TUE T $Heh THTE oh GISTd 39
fower o1 "EyHgEs q9EET B | ke, TS AT TR 'R W fafie sefeEt aen
TSR 6 3Te aun fuiet o W @ WRd TR g aut wef wifed & 3w |

Ho & Teh JcAfereh Hewaqul Yftren! o1 g s w2 |
SR SR water % it S s BT R |

IoIeRT Y el ol 3gYd hd §U fohgl i STRITHT <hl U&= ShIfST a2 376 THeMST |

With rapid advancements in the field of replacing manual work with-machines, a robot
named ‘Sujan’ has been invented and developed and is likely to get the citizenship of

the country of its origin.

It has led to a stage where machines are being used in place of human beings.
‘Sujan’ is doing all types of work whether routine or hazardous and even answering
the queries of people. However, this issue has to be carefully looked into keeping in
mind the consumer attitude towards product innovations, problem of unemployment
and its impact on the quality of life. Through the orders and decisions of various
commissions and agencies at Centre, State or local level the Indian Government is

playing a very significant role in balancing the use of human and machine power.

Various dimensions of business environment are being discussed in the above

para.

By quoting the lines from the above identify and explain any three dimensions.
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‘T seifeesm UTgae fofies’ o detas Jeeyeh o <1 ue o 9 | AHa SETeE Jeus i’
3 TS % ST H g b U el fovare’ it qga i aU1 3 HEeh JEh o 9¢ T
TGTA L TG | GHL UG o TTT Srewereh W1l o Ueh MO Uoid] Shi HETET o a1 HeAw
T =T T | ®: A1g wwErq w3 <@ fob fava’ 1 fsared ‘wefin’ o fsarea |
TEA T, T “Torgamd’ st T G| 8 A off | 31d: arel’ 3 foiy foen o6 vl g o8
foreft Tedt € & 13 Fgfaa &1 sham |

TY foh=gl =R ShRUTT oh! AWEITST ek STER W el 3 Iutie ot forem grm |

There were two vacancies for the post of Assistant Manager in ‘Gyan Electrics Private
Ltd.’. ‘Parth’ the Human Resources Manager identified one suitable candidate
‘Vishwas’ from within the organisation and promoted him to the post of Assistant
Manager. For another post, the Manager ‘Parth’ took help of a placement agency and
selected ‘Saleem’. After six months, Parth observed that ‘Vishwas’s’ performance was
much better than ‘Saleem’s’ performance though ‘Vishwas’ was less qualified than
‘Saleem’. Hence, ‘Parth’ decided that in future he will not make any appointment with

the help of an outside source.

Explain any four reasons on the basis of which ‘Parth’ would have taken the

above decision.
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MARKING SCHEME - 2017-18
BUSINESS STUDIES
COMPARTMENT- 66/1-2-3
EXPECTED ANSWERS / VALUE POINTS

MARKS

Q. What is meant by ‘functional structure’ of an organization?

Ans. Functional structure is an organisational structure formed by
grouping of jobs of similar nature according to functions and organising
these major functions as separate departments like production, finance
etc.

1 mark

Q. How does planning reduces the risks of uncertainty?

Ans. Planning reduces the risk of uncertainty by anticipating changes
and developing managerial responses to the changes.

1 mark

Q. Zamon Ltd. is manufacturer of electronics goods based in Pune.
On one hand it deals in items like books, music instrument,
videotapes etc., and on the other hand it deals in laptops and mobile
phones.

The company had a functional structure with separate heads for
production, marketing and finance. All the functional heads were
looking after the products, but at times their activities overlapped.
This led to problems related to coordination and inter-departmental
conflicts. To facilitate specialization Ramit, the CEO of the company
decided to group books, music instrument, videotapes etc. under
‘Media’ and laptops and mobile phones under ‘consumer
electronics’. While doing so Ramit has performed a step in the
process of one of the functions of management. Identify the step.

Ans. Departmentalisation.

1 mark

Q.VXL Ltd. is a company dealing in dairy products. It procures
these products from Rajasthan and sells them to various parts of
Delhi. A month before ‘Merio Ltd.” a Haryana based company
entered Delhi market with a similar range of products. State the
impact of entry of Haryana based ‘Merio Ltd.’ on the working
capital requirements of VXL Ltd. Also, name the factor affecting the
working capital requirements of VXL Ltd.

Ans. The entry of Haryana based ‘Merio Ltd.” will increase the working
capital requirements of VXL Ltd as it may necessitate higher stocks of
finished goods to meet urgent orders from customers.

OR
The entry of Haryana based ‘Merio Ltd.” will increase the working
capital requirements of VXL Ltd as competition may force it to extend
liberal credit terms.

Factor affecting working capital requirements is:
Level of competition.

Yot

=1 mark
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Q.“Vani Oil Refinery’ is a large company, engaged in
processing crude oil and refining it into more useful products
like Petroleum, Kerosene, LPG etc. It has build good reputation
over the years. It has been consistently earning profits and
paying regular dividend to its shareholders. It needs additional
working capital immediately to finance a project. It expects to
return this amount after seven to eight months. Ashish Batra,
the Finance Manager of the company does not want to get into
procedural requirements of securing finance from a
Commercial Bank.

Suggest how the company can raise the required finance for
meeting its additional working capital requirements.

Ans. ‘Vani Oil Refinery’ can raise the required finance for meeting its
additional working capital requirements through Commercial Paper.

1 mark

Q. Give the meaning of Marketing Mix.

Ans. Marketing mix is the combination of variables chosen by a firm to
prepare its market offering.

OR
Marketing Mix is described as the set of marketing tools that a firm uses
to pursue its marketing objectives in a target market.

(or any other correct meaning)

1 mark

Q. If the company has enough funds and the management also
wants to have greater control on the channel members, which
channel of distribution should the company adopt? Give reason
in support of your answer.

Ans. The company should adopt Direct Level Channel/ Zero Level
Channel/ Short channel of distribution.

Reason: The company has enough funds for starting own retail outlets or
engaging large number of sales force.

2tV

=1 mark

Q. ‘My Bakery’, a biscuit manufacturing company, launched
biscuits with different flavours based on  quality and
features like ‘Crunchy biscuits’, ’Sweet potato’, ‘Coffee Jolly’
etc.

The labels on the package of the biscuits are with pictures
and different colours indicating and specifying the flavours of
the biscuits and their contents.

Identify the two functions of labelling discussed above.

Ans. Functions of labelling discussed above are:
(1) Describes the product and specifies its contents.

Yot

3
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(i1) Helps in grading of products. =1mark
9 12 11 Q. Distinguish between ‘delegation‘ and ‘decentralization’ on
the basis of
(i) Freedom of action; (ii) Status and (iii) Purpose.
Ans. Distinction between ‘delegation’ and ‘decentralisation’:
Basis Delegation Decentralisation
Freedom | Delegation Decentralisation
of action | involves more involves less control
control by superiors | over executives leading
leading to less to greater freedom of 1x3
freedom to take action to subordinates.
own decisions by =
subordinates. 3marks
Status It is a process It is the result of the
followed to share policy decision of the
tasks. top management.
Purpose | The purpose of The purpose of
delegation is to decentralization is to
lessen the burden increase the role of the
of the manager. subordinates in the
organisation by giving
them more autonomy.
10 |13 10 Q. State any three financial incentives other than ‘Pay and
Allowances’ to motivate employees.
Ans. Financial incentives other than ‘Pay and Allowances’ to motivate
employees: (Any three)
(a) Productivity linked wage incentive involves linking payment of
wages of employees to the increase in their productivity at
individual or group level.
(b) Bonus involves offering an amount of funds over and above the =
wages/ salary to the employees. 1x3
(c) Profit Sharing involves providing a share in the profits of the _
organization to employees. N
& POy 3marks

(d) Co-partnership/Stock option is an incentive under which
the employees are offered company shares at a set price which
is lower than market price.

(e) Retirement Benefits include benefits such as provident fund,
pension and gratuity that provide financial security to
employees after their retirement.

(f) Perquisites include incentives such as car allowance,
housing, medical aid and education to the children etc., which

4
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are offered over and above the salary.

(If an examinee has given only the heading, /> mark for each heading

should be awarded.)

11

12

Q. Lakhan, an expert in the area of Financial Management,
sent an e-mail to his subordinate Thomas about a new project
for a client in France. Though, the mail was in English, a
language known to Thomas, he was not able to understand the
actual meaning of many

words used in the mail. He was also not a specialist in the field
of Financial Management. Not only this, some portions of the
mail were translated from French to English in such a manner
that many mistakes crept in, causing different meaning to the
message.

(a) Identify two specific barriers to communication in
Lakhan’s e-mail.

(b) State any two measures which can be taken by Lakhan to
overcome the barriers identified in part (a)above to improve in
future the effectiveness of his communication.

Ans. Two specific barriers to communication in Lakhan’s e-mail were:
(1) Faulty translations
(i1) Technical jargon

Measures to overcome communication barriers: (Any two)

(i) Lakhan should communicate according to the needs, education and
understanding levels of subordinates.

(i1) He should take a proper feedback to improve the communication
process and make it more responsive.

(ii1) He should regularly follow up-communication and review the
instructions given to subordinates.

(iv) He should be aware of languages, tone and content of the message to
make it understandable to the receiver.

(If an examinee has given only the heading, /> mark for each heading

should be awarded.)

Yat+ s

1 mark

1x2

2marks

1+2

3marks

12

11

13

Q. Neelabh Sarin, the Finance Manager and Atul Chopra, the
Managing Director of Ghokerns Ltd. were discussing regarding
the source of finance to be raised for modernization of their
existing plant. Quoting that ‘Sensex has soared by 5078 points’
in the last three years, Neelabh Sarin suggests that equity
should be preferred while Atul Chopra wanted to opt for debt.
Keeping in mind the high operating costs of the company,
suggest the source of finance that should be used for
modernization of existing plant. Also, explain the two factors
highlighted above which should be kept in mind for taking this

5
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decision.

Ans. The source of finance that should be used for modernization of 1 mark
existing plant is Equity. +
%2 mark for
Two factors highlighted above which should be kept in mind for taking heading
this decision are: +
%2 mark for
(a) Stock market conditions/ State of capital market. explanation
(b) Fixed operating costs/ Risk considerations. =
1x2
(If an examinee has not given the headings as above but has given the =
correct explanations, full credit should be given) 2 marks
1+2
3 marks
13 10 9 Q. Explain any three points of importance of consumer
protection from the point of view of consumers.
%2 mark for
Ans. Importance of Consumer protection from the point of view of heading
consumers: +
(1) Consumer ignorance. 2 mark for
(i1) Unorganized consumers. explanation
(ii1) Widespread exploitation of consumers. =
1x3
(If an examinee has not given the headings as above but has given the =
correct explanations, full credit should be given) 3 marks
14 16 18 Q. Vardan Patel started the business of preparation and

supplying sweets through home delivery at a production cum
show-room ‘Express Sweets’ at Ahmedabad.

He made a plan forecasting the sales of different types of
sweets in various localities of Ahmedabad for each month of the
year to earn a profit of 20% on Capital employed.

He sets a sales target of 320,00,000 in the current year with
a 10% increase every year.

He then set the criteria for selecting suppliers from whom
he would make purchases of raw material. The planning paid
off and the business was able to achieve its targets.

(a) Identify any two types of plans by quoting the lines from the

above.

(b)Also give the meaning of the types of plans identified in part (a)
above.

Ans.(a) The two types of plans are:

(1) Objective

‘He set a sales target of Rs. 20,00,000 in the current year with a
10% increase every year.’

% mark for
identification

+
% mark for

6
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OR
‘He made a plan forecasting the sales of different types of sweets in
various localities of Ahmedabad for each month of the year to
earn a profit of 20% on Capital employed.’

(i) Policy
‘He then set the criteria for selecting suppliers from whom he would
make purchases of raw material.’

(b) Objective: An objective is the end which the management seeks to
achieve within a given time period, expressed in quantitative terms.

Policy : A policy is a general guideline which brings uniformity in
decision making for achievement of predetermined objectives.

quoting line

1x2

2 marks

+

1 mark each
for the
meaning

1x2

2 marks

4 marks

15

15

17

Q. A.V.M.Ltd. set-up its electric appliances manufacturing
factory in a backward area of Himachal Pradesh where
subsidies are provided by the government and labour is
available at cheaper rates.

A.V.M Ltd. was able to produce its products at low cost thereby
generating enough profits in the first year itself. It was because of
the fact that the limits of authority and responsibility of the
employees were clearly defined and the activities of various
departments were coordinated and integrated. The Production
Manager of the company also came to know about the availability
of raw material at cheaper rates from a vendor. For this he wrote a
letter to the Managing Director of the company for getting
sanction. But because of procedural delays in getting this sanction
and procuring funds from the Finance Manger, the order could
not be placed.

(a)Identify the type of organization that led to procedural
delays and because of which the company could not get the
advantage of procuring raw material at cheaper rates.
(b)State an advantage of the type of organization identified in

(a) above other than those discussed in the above case.

(c)Also, state any two values communicated by A.V.M Ltd. to
the society.

Ans.(a) Formal organisation.

(b)Advantage of formal organisation (Any one):

(1) It helps to maintain unity of command through an established chain of
command.

1 mark for
identification

+

1 mark for
advantage
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(i1) It leads to effective accomplishment of goals by ensuring that each +
employee knows the role he has to play.
(ii1) It provides stability to the organization as behavior of employees can
be fairly predicted. 1 mark for
each value
(If an examinee has given only the heading, /> mark for each heading =
should be awarded.) 1x2
(c) Values communicated by A.V.M Ltd. to the society: 2 marks
(1) Development of backward areas/ Balanced regional development. 1+1 +2
(i1) Optimum utilization of resources. =
4 marks
16 |14 14 Q. Explain the steps to be followed in the process of controlling
function of management after ‘Setting Standards’.
Ans. Steps to be followed in the process of controlling function of
management after ‘Setting Standards’:
%2 mark for
(1) Measuring actual performance heading
(i1) Comparing actual performance with standards +
(ii1) Analysing deviations %2 mark for
* C(ritical Point Control explanation
* Management by Exception
(iv) Taking corrective action =
1x4
(If an examinee has not given the headings as above but has given the =
correct explanations, full credit should be given) 4 marks
(If the examinee has not followed the correct sequence of steps, > mark
to be deducted.)
17 |19 16 Q. After passing his secondary school examination, David left the
school at the age of 15 years and started getting training under his
father. His father, a renowned electrician, had worked for many
companies. He everyday started accompanying his father on work
and watched him carefully while working. David was a good
learner and learnt the techniques of work quickly. Now his father
started passing on the tricks of the trade to David. With the
passage of time David acquired a high level skill and became a
well-known electrician at Indore. Big business-houses started
calling him for electrical -wiring .
(a)Name the method of training discussed in the above para.
(b) State any three benefits which David could get on being trained. 1 mark for
naming the
Ans.(a) Apprenticeship Training method
(b)Benetits which David could get on being trained: (Any three) +
1 mark for

(1) It may lead to his promotion and career growth due to improved skills

stating each

8
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and knowledge.

(i1) It will help him to earn more due to improved performance.

(ii1) It will reduce accidents as he will be more efficient to handle
machines.

(iv) It will increase his satisfaction and morale.

(If an examinee has given only the heading, /> mark for each heading

should be awarded.)

benefit
=1x3
= 3marks

=1+3
= 4 marks

18

17

19

Q. Describe any four functions of Financial Market.

Ans.Functions of Financial Market:

(i)Mobilisation of savings and channelising them into most productive
use.

(i1) Facilitating price discovery.
(ii1) Providing liquidity to financial assets.
(iv) Reducing the cost of transactions.

(If an examinee has not given the headings as above but has given the
correct explanations, full credit should be given)

%2 mark for
heading
+
%2 mark for
explanation

=1x4
= 4 marks

19

18

15

Q. Sara was pursuing her graduation. Everyday she saw her mother
working tirelessly at home after coming back from her work-place.
She decided to start a tiffin service to increase her family income.
To begin with she started supplying tiffin only in the
neighbourhood. Everyday she detailed out the menu after
consulting her mother. For informing the people about her service
she designed a beautiful informative pamphlet, got it printed and
started distributing it through the daily newspapers. She also
appointed two delivery boys to deliver tiffins.

The business was slow to begin with but picked-up well
afterwards. She was able to earn a profit of 20% of the revenue in
the first month.

(a)Identify the promotional tool used by Sara to communicate
to the customers about her tiffin service.

(b)State any three roles of the promotional tool identified in (a)

above in marketing of goods and services.

Ans. (a) Advertising

(b)Role of advertising in marketing (Any three):

(1)It helps to create demand by informing the prospective
customers about the product.

1 mark for
identification

+

1 mark for
stating each
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(i1) It provides economies of scale as increased demand leads to higher
production.

(ii1) It educates consumers by informing about the availability of
different products in the market.

(iv) It generates employment by creating various kinds of jobs to artists,
script writers etc .

(v) It improves standard of living by giving information regarding new
products and increasing income levels of people.

(vi) It sustains the media by acting as a source of revenue.

(If an examinee has given only the heading, /> mark for the heading
should be awarded.)

point of role

1x3

3 marks

1+3

4 marks

20

22

21

Q. State any five characteristics of co-ordination.

Ans. Characteristics of co-ordination: (Any five)

1) It integrates group efforts by unifying diverse interests into
y ying
purposeful work activity

(i1) It ensures unity of action by acting as a binding force between
departments and ensuring that all action is aimed at achieving the
goals of the organisation.

(ii1) It is a continuous process as it starts at the planning stage and
continues till controlling.

(iv) It is a pervasive function as it is required in all types of
organisations, in all the departments and at all levels.

(v) It is the responsibility of all managers at the top, middle and lower
level.

(vi) It is a deliberate function as every manager has to co-ordinate the
efforts of different people in a conscious and deliberate manner.

(If an examinee has given only the heading, /> mark for each heading

should be awarded.)

1x5

5 marks

21

20

22

Q. Deewan Ltd. is a multinational consulting company with its
headquarters at Washington D.C. It hires young people from
different countries of the world.

It is a company in which people dream to work because
of its work-environment, pay and growth prospectus. The
company has a culture of open communication and people of
various nationalities work together in a discrimination free
environment. The behaviour of managers of Deewan Ltd.

10
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emphasizes kindliness and justice which ensures loyality and
devotion of workers.

It also promotes mutual trust and belongingness among team
members. In this way management of Deewan Ltd. is able to
achieve its objectives by promoting team work. By doing so
managers of Deewan Ltd. are following some principles of
management.

Identify and explain any two such principles.

Ans. The two principles of management followed by managers of
Dewan Ltd are:

Equity

= Equity states that there should be no discrimination against anyone on
account of sex, religion, language, caste, belief, nationality etc.

= [t emphasises kindliness and justice in the behaviour of managers
towards the workers to ensure loyalty and devotion.

Espirit de Corps.

»Management should promote team spirit of unity and harmony among
employees.

= This will give rise to spirit of mutual trust and belongingness among
team members and will minimise the need for using penalties.

% mark for
identification
of each
principle

+

2 marks for
its
explanation

2%x2

5 marks

22

21

20

Q. Aditi set-up a company ‘Dantik Ltd.’to manufacturer
toothpastes using herbs found in her village instead of
chemicals that are hazardous to health. The package of the
product was eco-friendly and had details like price, quantity,
ingredients, directions for use and other relevant information.
It also carries the contact details like address, phone number
and e-mail id of ‘Dantik Consumer Services and Grievance
Cell’. The toothpaste became very popular and she started
getting orders from reputed traders.

(a) Identify and explain any two Rights of Consumers

discussed above.

(b) State any two values being communicated by ‘Dantik

Ltd.’to the society.

Ans. (a) Rights of Consumers discussed above:

(1)Right to be Informed states that a consumer has a right to have
complete information about the product he intends to buy such as
ingredients, date of manufacture, price, quantity etc.

(i))Right to be Heard states that a consumer has right to file a complaint
and to be heard in case of dissatisfaction with a product or a service.

(b) Values communicated by ‘Dantik Ltd.’ to the society: (Any two)
(1) Concern for health.

(i1) Optimum utilization of resources.

(ii1) Social responsibility.

% mark for
identification
of each Right

+

1 mark for
explanation

1%x2

3 marks

+

1 mark for
each value

1x2

2 marks

3+2
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(or any other correct value)

5 marks

23

24

25

Q. With rapid advancements in the field of replacing manual
work with machines, a Robot named ‘Sujan’ has been invented
and developed and is likely to get the citizenship of the country
of its origin.

It has led to a stage where machines are being used in
place of human beings. ‘Sujan’ is doing all types of work
whether routine or hazardous and even answering the queries
of people. However, this issue has to be carefully looked into
keeping in mind the consumer attitude towards product
innovations, problem of unemployment and its impact on the
quality of life. Through the orders and decisions of various
commissions and agencies at Centre, State or local level the
Indian Government is playing a very significant role in
balancing the use of human and machine power. Various
dimensions of business environment are being discussed in the
above para.

By quoting the lines from the above identify and explain any
three dimensions.

Ans.(i) Technological Environment

‘With rapid advancements in the field of replacing manual work with
machines, a robot named ‘Sujan’ has been invented and developed’.

Technological Environment includes forces relating to scientific
improvements and innovations which provide new ways of producing
goods and services and new methods and techniques of operating a
business.

(i1) Social Environment

‘However, this issue has to be carefully looked into keeping in mind the
consumer attitude towards product innovations, problem of
unemployment and its impact on the quality of life’.

Social Environment includes social forces like customs and traditions,
values, social trends and society’s expectation from business.

(ii1) Legal environment

“Through the orders and decisions of various commissions and agencies
at Centre, State or local level the Indian Government is playing a very
significant role in balancing the use of human and machine power.’

Legal environment includes various legislations passed by the
Government administrative orders issued by government authorities,
court judgments as well as the decisions rendered by various
commissions and agencies at every level of the government— Centre,

% mark for
identification
of each
dimension

% mark for
quoting

1 mark for
explanation
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state or local.

6 marks

24

25

23

Q. There were two vacancies for the post of Assistant Manager in
‘Gyan Electrics Private Ltd.” ‘Parth’ the Human Resources Manager
identified one suitable candidate ‘Vishwas’ from within the
organization and promoted him to the post of Assistant Manager.
For another post, the Manager ‘Parth’ took help of a placement
agency and selected ‘Saleem’. After six months, Parth observed that
‘Vishwas’s’ performance was much better than ‘Saleem’s’
performance though ‘Vishwas’ was less qualified than ‘Saleem’.
Hence, ‘Parth’ decided that in future he will not
make any appointment with the help of an outside source.

Explain any four reasons on the basis of which ‘Parth’ would
have taken the above decision.

Ans. Reasons on the basis of which ‘Parth’ would have taken the
decision not to make appointment with the help of an outside source are:

(any four)

(a) Internal sources are more reliable way of recruitment since the
candidates are already known to the organisation whereas external
sources.

(b) If internal source are used, there is no need for induction training as
the employees are already familiar with the organisation.

(c) Internal sources help to improve the motivation, loyalty and
satisfaction level of existing employees.

(d) Promotion at a higher level may lead to a chain of promotions at
lower levels in the organisation.

(e) They simplify the process of selection as the candidates are already
known to the organisation.

(f) They help in adjustment of surplus staff in those departments where
there is shortage of staff.

(g) Filling of jobs internally is cheaper as compared to getting candidates
from external sources.

1 % mark
for each
reason

1%x4

6 marks

25

23

24

Q. What is meant by ‘New Issue Market’? Explain the various
methods of flotation of new securities issues in this market.

Ans. New Issue Market is a market in which new securities are issued for
the first time to the investors.

The various methods of floatation of new securities in this market are:
(1) Offer through Prospectus
(i1) Offer for Sale

1 mark for
the meaning
+
%2 mark for
the heading
+
%2 mark for
explanation
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(ii1) Private Placement =

(iv) Rights Issue 1x5
(v) E-IPO
(If an examinee has not given the headings as above but has given the 1+5

correct explanations, full credit should be given) =
6 marks
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